
 

Wastafel
 
Onderdelen voor 09552203 verchroomd
 
Artikelnummer Pos Onderdeel  Adviesprijs €

(inclusief 21%
BTW) 

59914199 1 {HEBEL TWIST SEITENBE.
KOMPLETT} 

  19,12

59904755 1.1 {GEW.STIFT M5X8
SW2,5} 

  3,51

59912112 1.3 {STOPFEN GRAU}   2,00
59912504 2 {SCHRAUBKAPPE 33X

3MM} 
  12,10

59913210 3 {RINGSCHRAUBE M40 X 1
SW30} 

  13,01

59913075 4 {STEUERPATRONE 3.5
CLASSIC O.EC} 

  59,90

59912325 4.1 {HEISSWASSERSPERRE}   3,99
 5 Behuizing   
59913653 5.3 {ZENTRIERRING MIT

DICHTUNG} 
  5,87

59910749 5.4 {BEFESTIGUNGSSET}   21,96
59913964 5.5 {DRUCKSCHLAUCH

M8X1-G3/8 430MM} 
  20,81

59912551 5.6 {DICHTUNG 3/8"}   1,75
59912474 5.7 {BEFESTIGUNGSBOLZEN

KOMPLETT M8X1 140
MM} 

  7,20

59914201 6 {AUSLAUF WT TWIST
KOMPLETT} 

  104,54

59913727 6.1 {LUFTSPRUDLER M24X1
HC 6L/MIN} 

  7,74

59913989 6.2 {SCHAFTSCHRAUBE M
4X8} 

  1,82

59911884 6.3 {DICHTUNGSSATZ}   12,58
59911840 6.4 {STOPFEN HCR}   3,51
59902075 6.5 {AUSL.BEF.-SCHRAUBE

M4x7 SW} 
  3,93

 1 / 4© 2017 HANSA Armaturen GmbH



 2 / 4© 2017 HANSA Armaturen GmbH



 3 / 4© 2017 HANSA Armaturen GmbH



Explosietekening

 

Powered by TCPDF (www.tcpdf.org)

 4 / 4© 2017 HANSA Armaturen GmbH

http://www.tcpdf.org

	Onderdelen voor	  09552203

	Explosietekening

